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Solutions to bsp-5653-2/0Y X

Worksheet

Problem quickname: 5653

1)

Complete the table by filling in the empty spaces.
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T | = | O | Number | Word
8|53 853 eight hundred fifty-three
8|11 811 eight hundred eleven
060 60 sixty
91710 970 nine hundred seventy
71210 720 seven hundred twenty
2)
Complete the table by filling in the empty spaces.
a2l 8
g
&= | O | Number | Word
6 |7 67 sixty-seven
416 46 forty-six
4|8 48 forty-eight
415 45 forty-five
914 94 ninety-four
3)
Complete the table by filling in the empty spaces.
2 8
gl =
&= | O | Number | Word
4|6 46 forty-six
01 1 one
6|5 65 sixty-five
1|6 16 sixteen
713 73 seventy-three
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Solutions to bsp-5653-2/0Y X

4)
Complete the table by filling in the empty spaces.
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& | = | &= | O | Number | Word
15 |2|2] 1522 | one thousand five hundred twenty-two
511|120 5120 | five thousand one hundred twenty
5|15 |3|5| 5535 | five thousand five hundred thirty-five
3|7 |6|3| 3763 | three thousand seven hundred sixty-three
318191 3891 | three thousand eight hundred ninety-one
2|66 |9| 2669 |two thousand six hundred sixty-nine
710]2)|6| 7026 | seven thousand twenty-six
4 |8 |5 |2 | 4852 | four thousand eight hundred fifty-two
98| 4|3| 9843 | nine thousand eight hundred forty-three
817|119 8719 | eight thousand seven hundred nineteen
Good Luck!
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